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uksV& lHkh iz'u gy dhft,A

Attempt all questions.

[k.M (v)

(Section A)

1. izca/dh; ys[kkadu D;k gS \ izca/dh; ys[kkadu rFkk foÙkh; ys[kkadu esa varj Li"V dhft,A

13/16

What is Management Accounting ? Distinguish between Management

Accounting and Financial Accounting.

2. dks"k izokg fooj.k D;k gS \ izca/ ds fy, blds mís'; ,oa egRo Li"V dhft,A 13/17

What is Fund Flow Statement ? Examine its use and significance for

management.

3. lkekU; {k;] vlkekU; {k; ,oa vlkekU; cpr dks le>kb,A izfØ;k ykxr ys[kksa esa budk
ys[kk fdl izdkj fd;k tkrk gS \ 14/17
Explain Normal Wastage, Abnormal Wastage and Abnormal Effectiveness.
How should these be deal in Process Cost Accounts ?.

[k.M (c)

(Section B)

4. vk; dj ds fy, djnkrkvksa dk fuokl&LFkku fdl izdkj fu/kZfjr fd;k tkrk gS \

fuokl&LFkku dk dj&nkf;Ro ij Hkkj le>kb,A 13/16
How is the residence of assessee determined for income tax purposes ?

Explain the incidence of residence of tax liability.
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5. ^okf"kZd ewY;* dh ifjHkk"kk nhft, rFkk edku&lEifÙk dh vk; fu/kZfjr djus ds fy, okf"kZd
ewY; esa ls ?kVk;h tkus okyh LohÑr dVkSfr;ksa dk o.kZu dhft,A 13/17
Define ‘Annual Value’ and state the deductions that are allowed from the
annual value in computing the income from the House Property.

6. fe- ‘A’ tks iw.kZr% vU/k gS] fuEukafdr lwpuk izLrqr djrk gSA mldh dqy vk; dh x.kuk
dhft, % 14/17

  #-
osru 2,90,000
edku fdjk;k izkIr izfr ekg 30,000
vYidkyhu iw¡th ykHk 12,000
lgdkjh lfefr ls ykHkka'k 7,000
jk"Vªh; cpr&i=k ij vftZr C;kt 3,000
ih-ih-,iQ- esa tek 10,000
thou chek izhfe;e Hkqxrku 6,000
Mr. ‘A’ who is totally blind submits the following information. Compute his
total income :

Rs.
Salary 2,90,000
Rent received from House (p.m.) 30,000
Short-term capital gain 12,000
Dividend from Co-operative Society 7,000
Accured Interest on NSC 3,000
Deposit in PPF 10,000
Paid Life Insurance Premium 6,000


